H & 0l & AHS B Ml A

20248 =0ila eI S

SAM: ol
M 51 HH| Y 22
s ol EHl € 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ok 1t 225,485,474 121,699,844 103,755,630
= 91,247,988
[ 1,750,000
ES 1,200,000
== 62,257,486
H 67,000,000
= 2,000,000
ot EH| & el 217,028,474 106,918,824 110,109,650
= 91,247,988
[ 1,750,000
ES 1,000,000
< 54,030,486
H 67,000,000
= 2,000,000
ot &Hl & 2 217,028,474 106,918,824 110,109,650
= 91,247,988
= 1,750,000
e 1,000,000
= 54,030,486
H 67,000,000
= 2,000,000
steJl=HE = 2,003,800 1,003,000 1,000,800
= 3,800
= 2,000,000
401 Al HIZ S 0HbI 2,003,800 1,003,000 1,000,800
= 3,800
= 2,000,000
01 AlZH| 2,000,000 1,000,000 1,000,000
Oodt&EI |2 A& -8 2,000,000
= 2,000,000
03 A2 2 0HYI 3,800 3,000 800
Odt&E |2 A& ¢ 3,800
X5t FHIAMS(C)(HEAIY) 72,000,000 71,319,036 680,964
== 5,000,000
H 67,000,000
401 AIEHIZ SR OHYI 72,000,000 71,319,036 680,964
[ 5,000,000
H 67,000,000
01 Al&HI 67,863,840 66,131,036 1,732,804
OXLotEEIAIS (&) 67,863,840
= 863,840
H 67,000,000
02 Zeltl 4,084,160 5,168,000 1,083,840




S BHED
I ot Hdl & 2l
el St EHl & 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXLotEEEIAIS (&) 4,084,160
03 Al 2 0HYI 52,000 20,000 32,000
OXLoHEEBIAIS (%) 52,000
XYt FHIAIE (AZ) (D EAI) 25,023,322 21,221,405 3,801,917
403 AXIEHHSAH=Z01d 25,023,322 21,221,405 3,801,917
01 XM= 22X 25,023,322 21,221,405 3,801,917
OXIZstEAYIAIS (Al Z2) 25,023,322
20t FX2el At 695,000 274,000 421,000
403 TR M SAH=01H 695,000 274,000 421,000
01 AR A =2 £ 695,000 274,000 421,000
O4otd RAl2el 695,000
SEOIEEEAAE 2= 45,000 45,000 0
207 ARl 45,000 45,000
02 MAHHEHI 45,000 45,000
OSEGHEEBAIAE S+ 45,000
Agotd sX2el 3,822,500 2,811,000 1,011,500
e 1,000,000
= 2,822,500
403 AXIEHHS =201 3,822,500 2,811,000 1,011,500
E 1,000,000
S 2,822,500
01 AXISHHA=2E XL 3,822,500 2,811,000 1,011,500
OXlglote &Al |RAI2+ 1,000,000
OdtdAIE=E H2EE & 3l 1,822,500
Ost=&Hl & 2l 1,000,000
e 1,000,000
KIZtotd XHoH ol 3,005,000 2,966,500 128,500
403 AXIEHMSAH=0l 3,005,000 2,966,500 128,500
01 AXISHHA=2 2L 3,095,000 2,966,500 128,500
OXgotd +=2(82) AUS3 L SLMAHAI
A AS 1,105,000
OXlgstd E&E & 1,360,000
OBIEAE B - 22 At 630,000
2DVDHE R ES(SLAY) 5,000,000 5,000,000 0
= 5,000,000
403 AXIEHHSAH=201H 5,000,000 5,000,000 0
= 5,000,000
01 MXIHHA 22 5,000,000 5,000,000 0
O=Itotd |AE(3LEHA) 5,000,000
= 5,000,000
2ot R X2 (&) 100,000 100,000 0
= 100,000




S BHE D
I ot Hdl & 2l
el St EH & 2 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
403 AXIEHMSAH=01& 100,000 100,000 0
= 100,000
01 XM A =2 E 100,000 100,000 0
O=0t6td KA E=(E&+=H) 100,000
= 100,000
otd 2re| e ZAE XI& 267,700 275,288 AT,588
308 AtXIEHMSOIE 267,700 275,288 AT,588
01 HAHHBHEERS 17,700 25,288 NT7,588
OHEEX 0l HE 2EEI =2 S 17,700
2 d+=uF3 250,000 250,000 0
Ootd & - AM82 d=ul=s 250,000
Aot HYEX 24 500,000 100,000 400,000
401 Al HIZ 2018 500,000 100,000 400,000
01 Al&H| 500,000 100,000 400,000
OXl ot HUEX 24 500,000
OtMOtA HRF& 28,600 29,765 21,165
201 fet= 3| 25,000 27,200 2,200
01 AtR2tc|HI 25,000 27,200 A2,200
O%lds 289 s 25,000
203 =] 3,600 2,565 1,035
03 A=A =] 3,600 2,565 1,035
OotdE R A=A 3,600
Aot By =37 Kl 01 190,000 130,000 60,000
401 Al HIZ 2018 190,000 130,000 60,000
01 Al&H| 190,000 130,000 60,000
OXNlgotd He =574l 0 190,000
Ngotd suls S+ (&d%) 51,253,776 0 51,253,776
= 51,253,776
403 X SHHMSAH=01H 51,253,776 0 51,253,776
= 51,253,776
01 XM A =2 E 51,253,776 0 51,253,776
OXlgstd s<mlo ==+ 51,253,776
= 51,253,776
Xgotd SO SR (|ere) 51,253,776 0 51,253,776
= 34,894,212
= 16,359,564
403 AXIEHHS X201 51,253,776 0 51,253,776
= 34,894,212
= 16,359,564
01 AXISHHA=2EXE 51,253,776 0 51,253,776
OXlgotd SIlsH =+ 51,253,776
= 34,894,212




S BHE D
I ot Hdl & 2l
s ol EHl € 2 EER=E)
SA - ZE - B2(30) - HRAS of v e HIDE2
| = 16,360,564
a0t AUIE AF2CIANAY 25 1,750,000 0 1,750,000
[ 1,750,000
403 X MSAH=0lH 1,750,000 0 1,750,000
= 1,750,000
01 AR A =2 £ 1,750,000 0 1,750,000
O4old ANE HF2EAAY 2= 1,750,000
s 1,750,000
=22d - e 2 400,000 10,700,000 10,300,000
= BE 2 400,000 10,700,000 10,300,000
MEHSHE SRAI(HEALY) 400,000 10,700,000 10,300,000
403 MR SHHMSAH=01H 400,000 10,700,000 10,300,000
01 MXIHH A =222 400,000 10,700,000 10,300,000
HENSIY SEAS 400,000
HE T O 325,000 475,000 150,000
E 200,000
=S 125,000
ME ormzte| 325,000 475,000 A150,000
ES 200,000
< 125,000
A2 SSAIE oHE 2t 325,000 475,000 /150,000
ES 200,000
& 125,000
403 AXIEMSA=201E 325,000 475,000 150,000
e 200,000
= 125,000
01 XM A =2 E 325,000 475,000 150,000
OATRE SSAIE ANHFH(AEHEZAL) &
BIAE & 200,000
EN 200,000
OA72 SZ3AIE ZHIAFE (XEA) 125,000
Wegs(cte) 7,660,900 3,566,600 4,004,300
SHRE(5HEY) 6,278,400 3,531,600 2,746,800
XN (Ss=28712 XMHL3) Ol Krats 6,278,400 3,531,600 2,746,800
311 XS0l Aratat 6,278,400 3,531,600 2,746,800
02 Set=8712 XY =01AHake 6,278,400 3,531,600 2,746,800
OXgat&EHIMNE (SLEA) 3,187,200
OX ot EHIMG (B2 R) (AZAE) 2,880,000
OXLot EHIAG (et & =) 211,200
HEHeHXIE 1,382,500 356,000 1,347,500
NSIHEDI= Olktate 1,382,500 35,000 1,347,500
705 Ol==dclsdE 1,382,500 35,000 1,347,500




A BHE Dt
Hu: RS (5D

el LR KIE (Gt H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
04 Al - EXISHLD | S0~z 01 KHatEt 1,382,500 35,000 1,347,500
OXIZatMEHIAIE (&) 1,155,000
02021 Xgotd s<Iloh S+ 17,500
Ost&l|IZ2 A& =8 17,500
O#dEiote SR A 192,500
Y 2HZHI (5t D) 41,100 39,420 1,680
Z3HI(otA 1) 41,100 39,420 1,680
Jl=2Zdl(std ) 41,100 39,420 1,680
201 L= 19,200 18,360 840
01 AF22t2ltl 19,200 18,360 840
Ostd g2 =& 19,200
202 044l 19,200 18,360 840
1 2O 19,200 18,360 840
Oodtd & =& 19,200
203 gR=8| 2,700 2,700
04 RFAZSLRFEI 2,700 2,700
Odtd g2 =& 2,700




